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BIOLOGY (V) - Jszler/ < 024 ' il
Q. Paper : II (Objective Type) PAPER CODE = 7467 GAS» ) 11 ppdlr
Time Allowed : 15 Minutes (s /ly) o 15 1 o
Maximum Marks : 12 ' C//‘%lé /=2 12 - AF
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

In ---, Watson and Crick proposed the structure of DNA: :JLZ?JRK&VJ DNAuﬁ---J_J/Cslc)J fs]1.1
B 1954 (D) 1953 (C) 1952 (B) 1951 (A)
Which one is used in production of plastic : L b W Je s Gk § Ly = Ji |2
Acrylic acid 4<1EL/1 (D)  Glycerol Js~£ (C) Formic acid LA.56 (B)  Ethanol J##1 (A)
The units of androecium are called : ' Qg A o § |3
Style J& (D) . Stigma & (C) Anthers A 4@?@ tamens ;i (A)
After formation of ammonia, it is converted into :;JM e M/!f’t/slu’ﬁf"tc,wiéL_t?uﬂjﬂ 4
nitrites and nitrates, is called : o §1
Nitrification Shaad sl (B)  Assimilation sl gl (R)
Ammonification oiusad sl (D) L g-nitrification s s b 53 (C)
It destroys microorganisms found on non-livi @E)cts: o S A B A 2y L A o 2
Disinfectants sataisaisl g3 (D) Antibioticsg\gf @C) Antisepticsu’%&'! (B) Analgesics\fc':?ﬁl (A)
: AN S

The example of xerophytes plfa;r;tjj%ﬁ) D& JIU"» J U2y u:'/G,"/J ~|6-1
Grass W (D) Cac S (C) Sea grass UW(.e~ (B)  Water Liiy Js~ (A;

In normal circumstances, humans breathe --- :Q;Déujl/_w[};/_-_ ;E;L(!/Tﬁuﬁautpwtuw 7

times per minute : '

25-30 (D) 20 - 25 (C) 16 - 20 (B) 12-16 (A)

It controls feelings such as rage, pain, pleasure and sorrow. :;x/d,ﬂ.augc;f f; P ¢ |8

Cerebellum ("‘x (D)  Cerebrum ¢z (C) Hypothalamus Lfg:f; (B)  Thalamus u/g (A)

Mendel used —— pea plants for his experiments : : YU 16Uyl » - & £ el f et Jir|9

29000 (D) 28000 (C) 27000 (B) 26000 (A) .

The embryonic stem below the point of @ LS elypgcrelinl Uid¢ 10
attachment of cotyledon is called : o i

Epicoty! J’%g.a (D) Hypocotyl Jt%1 (C) Radicle 24, (B)  Plumule Jx# (A)

The total bones in vertebral column are : e s J J u;’i‘i o HK Jﬁ';: 11
27 (D) 26 (C) 25 (B) 24 (A)
Meaning of R4 in conservation of nature is : e A ¥ el RA UE LF L 2 F |12

Reforest (62l (D)  Recycle thesT/8iln (C) Reuse JLit (B)  Reduce Jeid ()
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BIOLOGY (Vi ) - Jidhew) - 024 sl
Paper : 11 (Essay Type) ( b__,a:fﬂgg ) (5 agilash) 11 2
Time Allowed : 1.45 hours [/ﬂ 'F/ '“)y & 145 :
Maximun Marks : 48 ( PART-1 Jil .2 ) 48 : A

10 2. Write short answers to any Five (5) questions : o O] 4 /""" L ey (5) ég -3 Jf -2
(i) Differentiate the breathing and respiration. b3 o s 23 s ()
(i) Differentiate the bronchi and bronchioles. &b 3/ A /"zgu. 2l Jlﬁ',/. (ii)
(iii) What is meant by lungs cancer? e ly l;r & /‘[ " w%‘f’; (i)
(iv) What are hydrophytes? Give example also. -c’é’/ (j{ Jl‘}' o l[ u:',li;/,’«fy (iv)
(V) Define nephron. Also write the name of its types. -é’g u‘{ rt Z (U‘" (ﬁ -’cf:( h—f!f.] J JiE (V)
(vi) What is the effect of bright and dim light on retina? ?c‘- 2 lf £ ts 6 (f» f‘m 4 7 (i)
(vii) What is meant by suspensory ligament? fe. kf 0 /f'/ (vir)
(viil) Define ophthalmology. ..Z_-': -7 1! J;‘y‘*’.’; (viii)
10 3. Write short answers to any Five (5) questions : o AR /"? L =y (5) ég . J/ -3
(i) Differentiate the exoskeleton and endoskeleton. ~éJ/uf Ll 3 4 1 N e r—( ()
(i) What is meant by Punnett square? @@; .y I_.;r & 5/ K < (i)

(iiiy How does multiple fission take place in amoeba? O@q_ O d: u” J,’ ud’ U Lt (i)
(iv) Write two causes of spreading AIDS. Qg;}%\ 2 =\ 25 2 J 4’; Lk (iv)
. &
¥

(V) How do the inheritable traits pass from parents ‘J& d: S Ufe ) ,Jb..:«gn"‘ Qo (v)
to offspring?

(1 =
(vi) Define genes flow. -2‘;{ -3 g (gene flow) 3z K =2 (vi)
(vii) Differentiate the homozygous and @@ -é&/uf,f’t*x" oty 21 sl Sty o (Vi)
N

heterozygous genotype. .
0 & LAY e (i)

(viil) How nucleosomes are formed?-
10 4. Write short answers tc ive (5) questions : : o1 14 L ey (5) ég & Jf -4

(i) Why producers ar ial in ecosystem? Ut S U irthy f‘/ £ (i)
{ii) Differentiate the%sr&?ophs and heterotrophs. _é ok O A gf Yy ) u) 1297 (i)
(iii) Define pollution. BNy I G
(iv) Write symptoms of dengue hemorrhagic fever. -é ;f“ ol J 9 ..._9"/:‘..“’ UE")‘ (iv)
(V) What is meant by GMO (Genetically Modified Organism)? el Ve (libos* ) K72 513) GMO (v)
(vi) Differentiate the endonuclease and ligase. -é‘f.’.: Zj Iy J/ S U nl /{bj.é;fq,! (vi)
(Vi) What are the effects of hallucinogens on human health? m@:;u}!g{cf Ale sk (vii)
(viii) Define antibiotics. 2P § S i
( PART -1I (22 )
Note : Attempt any TWO questions. o AT 4 L ely »e (;:( td

2,2 5. (a) Describe the methods of cleaning of blood -é&&:g{uﬁ.’ JL S edpe R S () L5
by artificial ways. '

5 (b) Define arthritis and explain its types. - Uk (LI st & 724 u’b",lf.’.'/T (o)
- - . 3 & b » > g 3
4 6. (a) What are effectors? Write their role in a _é{f/b/ ﬁlufu’gué:-u g okl ?ujé.ny/} /‘g" “ () -6
coordinated action.

5 (b) What is budding? Explain the process -é&l.‘u(ff ALY ;.Laawé'g? ?‘a)l/l_fc:...f 2 ()

of budding in fungi and animals.

4 7. (a) Describe four important applications of _éf.:r ugdlﬁ’iﬂ el u%?"(}uf L;C}o/z'ud/h () .7
fermentation in our daily life. .
5 (b) Write important sources of medicinal drugs. "c_{ i d Olis g Fal CH%3) U‘b (y)
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c’:_,’:?c//)c_.u’:u;ﬂ:éé.:&.bldlr/z{(éb/éfﬂ -u_fzc:-:D s CcBc«A c/(,l;?.'f/kidlr/; Ly
-(ﬂ»"blc’_/':?o/ﬁu:cuﬂd/f_/q Jok L Z,/nyu;/’*:up‘;uﬁ -Z'T_"J/?’wa'g/;l.i://bﬁla'?&f k-
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which gas reduces the oxygen carrying capacity of e J7 H:Q-{WJ b ‘f*j TJJ}K".“”‘_}{U{J/ 11
haemoglobin: e
Ammonia L1 (B) Nitrogen Sl A)
Carbon dioxide 4S5 (D) Carbon monoxide 415y /6 (C)
Which one is reabsorbed in descending limb < Y —de 2 L'J/ e Jt 4 d(a & J & T |2
of loop of Henle : ’ ’

Urea L.y (D) Salts ;-,‘(.,G' (C) Glucose /:gfi)((B% Water &g (A)
Which of the following sepatates middle ear from inner ear - Qbﬁx@\w 5%/»»' f:(u det/ufc.u: 3
Cochiea L¥§ (D)  Oval window shs st (C)  Ear drurT(\V@\@@> (B) Stapes UF  (A)

How many bones are present in both hands collectively : %\Z%;f ey J ug{u Y e u:"?‘t U4
80 (D) 126 (C) Q@@z: (B) 33 (A)

- W(},> i — = J

@ Ldbd&ﬂ;ﬁ/&@)f@:/ﬂ( 5-1

£y (B) Fragmentation J‘-‘*j-"'-‘-“f“)/j‘ (A)

. /J/,,,C (D) Binary fission S L (C)

Budding

Sexual reproductio

N e Bt U i g o 7
Uterus of sabbit is divided into Wtwo separate parts - i< 0% o w.w ket u S (A)
Uterus wall 12807 (C) Birth canal JUL# (B) Cervix ’; /
= = CA )
: D Jf K& Sy Ld K
; ing i i thesis : g . " L
Which of the following is protein syn s . % ation (Y (A
lication 2¥% (D) Mutation /=% (C)  Translation g% (B)  Duplication u/f:;; )
Replication /™ = % 2 . (18
7 b - of e “’ ]( v O i L ‘f .
What will be the blood group of a : § x A S A
person which has no antigen present in his blood : o (D) B (C) AB (B) A _(A)

(0)]

Horns 24 (D)

\l

[ ip st U sg -V:Z:*:);){AIVQJQ
Termites and protozoan have which symbiotic relationship : ‘< > uf ¥ ﬁ f J ¢ /

it ism 2 (A
Predation in/ (D)  Mutualism (?53:,‘ (C) Parasitism (iler L5 (B) Comrr;nsahs}r;r KJ"’ ;:) -
redation /=4 J : '
Ll i g - » f : P V ﬁ J
How many tonnes recycling of paper can save 37 trees: chELf =3 174 L. :; : S
Four /& (D) Three ¢~ (C) Two 5 (B) Onl.‘i( .) — EM -
; i e by Yo 2 L% s JE R Ay
Enzyme which is used for joining the genes is :/ e by jﬁ ) & " /&U -
i Pu 311 (D) Amylase ﬂdtf (C) Endonuclease 7 %4 (B) ig } /
Lipase /= ot ‘ =
e e S S
Psilocin is obtained from which : . S : o . -
Foxglove fgfb (D)  Cannabis sativa ’x,bfuJL»,,( (C)  Mushroorn s/ (B) actu
215-024-11-(Objective Type)- /50°° (7462)
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10 2. Write short answers to any Five (5) questions : ol e CHRT 4 /"?‘Cuulr (5) ét o Jf -2

(i) Write the effects of smoking on circulatory system. -2: /f ) A £ f/ d/U/ (i)
(ii) How respiratory centre controls breathing rate? ‘< S ’3/ éf :'/ A dl u”b /" Sz (i)

(iiiy what are pleural membranes? Write their function. -i /f J” ¥ o SUr Lf // Jok (i)
(iv) What are leading causes of kidney failure? ' o u:( L2s % J d..lp ¥ 16 L u»/ (iv)
(v) What problems may arise after kidney transplant? . S_% o J e U!( oL U~‘ 1/ (}/ (v)
(Vi) Why eyes of cat shine at night? SUr u’c: J:f / = u‘“’(l J J (vi)
(vii) How levels of calcium in blood are regulated?¥< Uk Lt 0461 v/ J e J,,.u..d.\fu" P (vii)
(vili) Compare receptors andeffectors. 7 -Zf Sl K 5t st 5 s, (Vi)
10 3. Write short answers to any Five (5) questions : : J = (2 /"Zumr (5) ég < Jf -3

(i) Why is the human skeleton = St i! A7 S/ /-: Z U ?c‘-t’tgfu:[(tﬁoﬁbgfom&ggw (i)

considered a living system and what are some of its essential components?

(ii) Why is the progesterone hormone crucial for bone“a.dn/‘u/ 210, § =5 J U{’J:'Lﬁuf ¥ (ii)

health in females?

(iii) Define semen. ﬁr v J/“'. d/ Oad (iii)
(iv) What is the reason of success of seed plants? Q@@ = d/ (}VK J Uy 1y C (iv)
(v) What are homologous chromosomes? St Lx U /rf)/ J';'rf (v)
(vi) How does DNA work? C’gb“c_ 6 r( A ;// DNA) ey (i)
(vii) Define incomplete dominance. Give an exa 2 cf.,;JV e df s J' o3 J"(L (vii)
(viii) What is the theory of special creatior&\i\o e Lf ~/” § JL{ u":" (viii)
10 4. Write short answers to an 5) questions : : J..«Qlf/"f—umr (5) él. "R Jf -4
(i) How modification in indu ) CCHJU:/C)’J;(&:J ld/féfui'ku"u»‘.ugti.béa,u;”‘ (i)
effluents helps in contro r pollutlon'7
(ii) Differentiate the ecosystem and biosphere. -c": J A /’ ' PLL ('/ % (i)
(i) How smog is formed? fe & c.f ._/:/ (iif)
(iv}) Write down symptoms of dengue fever. -é = d/ =5 (iv)
(V) What is importance of biotechnology in agriculture?  Se =/ Y J SALFL c;‘:: £ =Fli (V)
(vi) What is meant by continuous fermentation? S AL U < u’"? J’V (vi)

(vii) For which infections tetracyciines are used? - Ut db J Je /ﬁl/!/" c;.'- 2% /_@ u‘/ (vii)
(viii) What is the difference between antiseptics and antibiotics? <‘c_u/u’u$ U’( Lu’ I s u’@( 7 (viii)
( PART-II (9 )
Note : Attempt any TWO questions. g Loty e §F i ud
4 5. (a) Explain the osmoregulatory function of kidney. e ol 41 d/:(/r”)l ¥ s/ (U5

5 (b) Describe the structure and -Z u‘r JJ Sk Jﬁ 3! c{ ulr Judt st =31 J d.b ()

function of bone with its labelled dlagram

4 6. (a) Describe negative feed back _é’: Jk /KA ._ﬂ Y ::-‘g e g L uf(:{ 28 u"r” () -6

mechanism with reference to insulin and glucagon

5 -:‘:ubu"b’c..’c_u(; !/LF:M’J'J-é J/’Ju”d/t (...«)

(b) Define binary fission. Describe it in amoeba with Iabelled diagram.
4 7. (@) Write basic steps of genetic engineering. -é /f J’ / Solx P /"{ e (L) L7
5 (b) Write major categories of addictive drugs. e ,/f Sk 14 bl 5T ()

215-024-11-(Essay Type)-60000
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c_(.__.zlﬁu);c.Ju:ﬂ:é’fé..:é:.bﬁd'w;g_é(d"ﬂ -u}é::_)D »sCeB<A .;gm%géwy/; Db
_fﬂ»‘jw*‘ﬁuﬁg}:ajr‘g!i./q /b‘ag L L)//:!(u://bu.t_)c_vg -Z_*;/;_,cf}gﬂt,f,jn,;aw&w

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

How many bones make our vertebral column : Lot dk: /K Jén Jbi 03/ 1-1
26 (D) 24 (C) 22 (B) 20 (A)
Which one is the reservoir of free gaseous nitrogen : e 223K Sakt T Ly < |2

Water dL (D) Atmosphere (& (C) Consumers J/{"f"/ (B)  Producers J9iss (A)

In which one histone protein is present : te U IV EUL RV g/ = U~ J|3
Centrosomess % (D)  Chromosomes ) (C) RNA &t T WA < $s(A)
R od ~ O =
The concave side of kidney which faces vertebral column : q..g}tlf(? r@\ffgf’gfﬂﬂ) ﬁ‘»ﬁi/ﬁ"dlg:/ &
<

is called :

Renal pelvis Js% s (D) Renal medulla U:,‘yﬁz (C) R/e’g@%?o?tex J“C:lfﬁj (B) Hilus JK L (A)
v,

Which one is source of variations : v tee Fu¥ 2P Sl of <« Ut |5

& 3 " & " ' ry
Mutation o/ (D)  Translation u’-'uf/ (C%@scription u%/p I/ (B) Guttation u’-f (A)

Which one drug weakens the short term <ﬁw\ﬁuman : : 98/’:; ﬂﬁb:«i)b}’g}:ﬁ. émdufu:uun 6
Psilocin /7 L (D) CodeirE@ (C)  Morphine wf-s/t. (B) Marijuana £/ /.fu’"}gf?" (A)

Which one part of brain is prese \n the top of medulla ; 2 ‘Lt‘ﬂ)ﬁ)"éﬂé Us 4o Luf¥ e Utur|7
Thalamus &2 (D)  Cerebrum ¢z (C)  Pons (B)  Midbrain /4% (A)

After fertilization in plants the seed develops from : e U e g/ Gl L RIS A Uy |8
Ovary (! (D) Ovule J#ss!  (C) Sepals ¢~ (B) Petals % (A)

In which one group, external fertilization takes place : P Qoe SO} J‘/‘.{l S 7;/ J( e |9
In mammals J5#€ (D)  In birds J~Ussz (C)  Inreptiles uf)’,lﬁ;y (B) In fishes uﬁu):?f (A)

Interferons were first time produced in : A & 72 #1110

1980 (D) 1978 (C) 1976 (B) 1974 (A)

Which one of these is a muscular structure present below : +dm:2f§,£ Usafess LA ..gdu/c.,ui' w11
the lungs :

Diaphragm (’/;W (D) Alveoli éﬂ;{:ﬁl (C)  Voicebox =7 (B) Trachea L«.(/’ (A)

Which one ecologist developed the concept of t L o K i J?}’:{ P4 u/ e 12
ecological pyramids :

Lamarck AU (D) Darwin !5 (C) Charles Elton uu'-"u’big (B)  Mendel Ji (A)
214-023-1-(Objective Type)-21000 (7465)
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10 2. Write short answers to any Five (5) questions : . o8 AT 4 /3" £ = Ul (5) é}’ & Jf -2
(i) Describe structure and function of alveolus. -{.::( ke J” sl =3 L/( u’i_»jzt:l (i)
(i) Write symptoms of asthma. _“é ;fu = J -~ (ii)
(iii) Eescribe two harmful effects of smoking on human &= et Ale_ £sd_lsd_ T{J&U’[__ff/ (iii)
(iv) v::letx?is meant by homeostasis? S slp YV < u"'-"/ 2y (iv)
(v) Define osmosis. -“é 4/‘7 J J (v)
(Vi) What is meant by receptors? el V< J 77 (Vi)
(vii) Briefly describe structure and function of motor neurons. -é Uk l/Z" J” DT ] J Tl 2y (Vi)
(viii) Write the functions of insulin and glucagon. _gf {fn Juit £ u/if 28! uf-JH' (viii)

10 3. Write short answers to any Five (5) questions : & oz 2L ey 5) ég e df 3
(i) Write two big functions of skeletal system in our body. -éz/‘//‘}gg‘ nd # J‘:‘"’é u.f()z./k (i)
(i) Differentiate between compact bone and spongy bone. ?‘a ﬁ/ ¢ unfg 23 u:!.»{?:/ (i)

(iii) Define reproduction and name its two basic types. -’&Fr tL “.»d/u w,é - /Jd/dﬁg}/;.J (i)
é@ W e 2 ST AT ()

(v) Differentiate between gene and allele. @ 4 -gf.:": 3/ s JJ’ s JE (V)
(vi) Write two main sources of variations. % ..“é ;f Olis e 0 £ ._"J/:"." (vi)
(vil) What is meant by Punnett square? 0@ Ve 2l &[ & d/ K s (vii)
(viii) Define Mendel's law of independent a o@ﬂ. ..“é:)./ - /J.:'/?ruﬂ;d}:u Tl Jar (viii)

uestions: & eyr AL e 5§ §F 4
secondary consumers. 20 3 P J/g’/"/ SoE SA, (i)

(ilv) What is meant by alternation of generation? ” {b\{)

10 4. Write short answers to any Fi

(i) Differentiate between prim

(i) Write down examples of carnivores plants. & Jij e d Uy )/»&/K (i)
(iii) What is green house effect? e el iy oS il
(iv) Write symptoms of dengue fever. 4 =ik d/ A% d‘?ﬁ (iv)
(v) Define fermentation. & ....g/"' &,,( u}:}f} (v)
(Vi) Who was Professor Scrimshaw? 1" L’J/ :’"/‘ /.‘:’:{ (vi)
(Vi) What is pharmaceutical medicine? S ol Y e I UJ’ (vii)

(viii) Define vaccine. L& _.g_-’/‘.’.p( uf.’g (viii)
( PART -1I (92 2 )

Note : Attempt any TWO questions. ~& e Loy 5 e Jf Py
4 S. (a) Explain the functioning of kidney. -..é =2 Loy d/ F L oesd £.5.5

21,11 (b) Whatis cartilage? Write about its three types. -ZJ/J;JLL(Q'JJW f@.ﬁlf )5 (L)
4 6. (a) Describe peripheral nervous &% Jut £t st L § -sf,-f Uk (“"/ Jys d/.‘.’{ () .6

system and write its types with their functions.

2.3 (b) Explain process of budding in yeast with the help .._é uy,c,uJ,»f/stf LW ()
of diagram.

4 7. (a) Whatis meant by -gfugg}uum)u?fw:uwziwy ?4.11/&’/4:_&:’1:?3:’& () .7
biotechnology? Describe the application of biotechnology in the field of medicine.

5 -é{c.‘.»’U)JJJL”&U(‘CLdb)'LJ}":C(@L»‘) b (?)

(b) Write the name of sources of drugs and explain any three.
214-023-1-(Essay Type)-84000
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Q. Paper :11I (Objective Type) PAPER CODE =7462 ())u:”:/" > II : p/,ﬂr
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J:E,‘:Z:/J:c.u:u:fbé’fc:,)c"_L/LJ'r/:gdfd'ﬁ ..u:‘éé.)D »CeBA .‘.‘«U}?}@%Ld‘f/" HO% |
-(n/ﬂwviﬁo/ﬁﬁaijL/q Ju¥ | L//:J(u;/’bu&}:_ug s L SN 3 b

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will resuit in zero mark in that question.

During exercise or other physical works < [5C s 308 S oy £ 1% =5 sl mE3 1 -1
breathing rate per minute increases up to :

<+ 50-60 minutes (D) & 40-50 minutes (C) &+ 30-40 minutes (B) &+ 20-30 minutes (A)

Water lily is an example of : - ! Je d/ Uy J/ J& |2
Mesophytes Lf"/G) = (D) Halophytes u:’ /G:,,"i (C) Xerophytes ui’ /G)_./J (B) Hydrophytes u’z' /Buﬁf{, (A)

It is the union of several axons : e NS (P (3
Node of Ranvier s3¢/ +-373# (D) Schwann cells ful} (C) Nerve s/ (%(@mdrites u‘b"/bfv'S (A)

Elastic cartilage is found in : O\ﬂa Lb & J( zals Lulla

Larynx ) S (B) Eptgkgtg% \O J WS (A)
Inter vertebral discs J" 5J Esf (D) qu@ fubes /rg)"g/ (C)
Mint and chrysanthemum reproduce by : \d&«bé./ u’(»// ol é’_ )’ u’f d»bf 3! ,u:’ 5
Suckers i, (D) Stem tubers //rr’ (C&Q Corms /u'/ (B) Bulbs 7 (A)
et AP g n 0¥ Basd
(B) Collecting ducts u—v/;vé.“ (A)

Part of testes provides nutrients to sperms:

Seminal vesicle

Cowper's glan JJJ/:K (D) Prostate glands )l:f_‘/f’l/ (C)
Movement of genes from one population to another is called : Lrqu lou" /J;’Lu’ /»K § - w"jit.f 7
Mutations /-r‘ (D) Gene flow 3L (C) Recombination u" ‘fz;’; (B) Crossing over S (A)
Process of translation occurs in : ' P e b Jj ' u’-’ul/’ 8
Ribosomes Syl (B) Golgi apparatus uﬁgfi'gl'«j, £ (A)
Endoplasmic reticulum ufH:’/G: /.f/'!};:}:d (D) Nucleus ufu""“h}/:‘ (C)
Which one is main producer in aquatic ecosystem : re b u/ /;{55{. (7’ ¥ /"'/ ,{ I L}T )
Protozoans '/';1.5;4 (D) Phytoplankton u“'/ k6 (C) Bacteria | /_-,’J..C (B) Fungi 6&’ (A)
The current level of urbanization in Pakistan is about : e (4 }7 J}.J. ey § u‘%/’ st U5 ul?/.t. 10
+4 52 % (D) +4 42 % (C) w4 32% (B) «4322% (A)
In which year, human genome project was launched : ! t_f tf C:/’ ».‘,E?f{_ ry:.” S ¥i Jl/ u’( 11
1990 (D) 1980 (C) 1970 (B) 1960 (A)

It effects on central nervous system and causes @ < d/ e =2 d/ é/ﬂ 3! d/ 7 £ (/ Jy/ d/’ wl12

drowsiness :
Codeine ¢ 3 (D) Psilocin cf:"/v (C) Mescaline d:f £+ (B) Morphine 2/l (A)
215-023-11-(Objective Type)-17000  (7462)
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BIOLOGY (V%) - Jyl_// - 023 S
Paper :II (Essay Type) (_a/ I ) (b aslaa) II Y
Time Allowed : 1.45 hours LA 2")—"‘2? a5y
Maximum Marks : 48 ( PART-I U5l .2) 48 /J‘
10 2. Write short answers to any Five (5) questions : & win A (5) ét e df -2
(i) Define cellular respiration. & g R =t /’)L“ (i)
(ii) Differentiate between inspiration and expiration. é 3/ L i) SOl sl u" /UJI (i)
(iii) How do pleural membranes protect lungs? S d/ c( bW J U2 /»” /’/ Jk (iii)
(iv) What is meant by thermoregulation? "4 AL Ve u’J 1(/%/ (iv)
(V) What is lithotripsy? S u’m“
(vi) Distinguish between dendrites and axons. -é I A /l)/ Il u"lua; (Vl)
(vii) Define reflex arc. _é _.yj" J LT onSliy, (Vi)
(viii) Write the cause and two symptoms of hyperthyroidism. 20 e s 2 g (/‘ll’bél}/ { (viii)
10 3. Write short answers to any Five (5) questions : : é A4 /"Z.,w,— (5) 5[. = Jf -3
(i) write differences between compact bone and spongy bone. e l)/ U/ lf u:’lf:*’ 3 u:’.:ﬁ/ (i)
(i) What is joint? Write its types. = d/ J! "c, lf <207 (if)
(iii) Describe the process of parthenogenesis in honey bee...g’_.f b o, v u"’ J M (iii)

=3 /%

(iv) Differentiate between regeneration and binary fission. é\?" gs u”’ d/’L sl o =24 (iv)

(v) Differentiate between homozygous genotype ‘." AT AR /‘ulu bsufasl o4 (V)
and heterozygous genotype.

(vi) Define monohybrid and dihybrid cross. Q;g}@ -“é - /" J 5.7 A/dgdﬁ 24 i/dl.:’r (vi)

(vii) Differentiate between breeders and cultiv . oY A ulsu.df sl Juk 4 (Vii)

(viii) Write the sources of variations. O _é /f dw Sy (viii)
10 4. Write short answers to any ?) questions : : 2 Lli/"z..«lﬂr (5) él. & Gf -4
(i) Differentiate between p n and cémmunity. -5 u/ P u‘:)/ 23! JJ :’L ()

(i) Define biosphere. -,_,é _.y/" 14 /",;g (i)
(iii) Differentiate between primary and secondary consumers. -Zf J iry / S o § /’/ (iii)

(iv) What is meant by biological nitrogen fixation? e J!/ Y < < Y SY J{” WL (iv)
(v) Write the name of two enzymes used in genetic el (tﬁ Aizissd_tsd_n eIt /"f &> (v)
engineering.
(vi) What is fermenter? . e b lf }-2?'/ (vi)
(vil) What is the difference between pharmacology and pharmacy? fe G2V U6 G Ml (vii)
(viii) What is the use of vaccines? Write example. J Je “a Jlr*"’ lf 4 f!‘/: (viii)
( PART-1II (».ﬂ?)
Note : Attempt any TWO questions. ez Loty ne 3 1o
1,2,1 FEok AL St Ses i e VEdWide S (I -5
5. (a) What is the functional unit of kidney? Descrlbe its struct.ure with labelled diagram.
5 -Zeoblp i it SL Az 2 L JeSuedimutll ()
(b) Explain antagonism in muscle action with biceps and triceps as example. .
1,1,1,1 6. (a) Explain pituitary gland in detail. el g}.‘."] ¥ p s () -6
1,1,2,1 ~E e I S S S S Bk ()
(b) Draw and label structure of a dicot seed and explain its different parts in detail.
4 7. (a) Write down four achievements of genetic engineering. & U6 b of /"‘{l 2 (L) 7
5 (b) Write mode of action of vaccine. -cif Uk }’ (d./,(’ 1 Ku‘j ()

215-023-11-(Essay Type)-68000
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Q. Paper : I1 (Objective Type) PAPER CODE = 7463 GAS7) I zydr
Time Aliowed - 15 Minutes (_;:/u‘;) 15 1 =

Maximum Marks : 12 M_q,,u_ 12 : A8
L—gl}?u"—/ﬂ&U:UJ//')éCé.)Z—VLJ‘)’/"/?QKQ’J? ..uj'f-fé.)D # C'BA :«LM;»@&-LJV; Ly
e Mo a Szt ST Sk | LS stk L LEEs e S\ SN0 3Ol
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

Symbiosis in which both partners get benefit is : Y Z.u?m’ts&j /.u)»ufu)'u/;ldf’ 11
Mutualism 4% (D)  Competition e uf Predation -:'-,fg{ (B)  Parasitism J:/"/Mf.« (A)

Which part of the female reproductive system receive eggs - ;.r/JmKﬁc.dmw Lt K("/ ;‘(5)/;./::'0)‘, 2
cells from the ovary :

Cervix ‘ﬂ/ (D) Vagina & s (C) Uterus ¢ (B) Fa!lopian tube V/u:)'; (A)

Which of these addictive drugs are also used as pain killer : - %@gﬁwdt-mm 6/",6( 3
Sedatives % & (B) Narc t@ u’(f ¢ (A)
All can be used ug&‘ndu»"«:rw, (D) {\gt-@\@mogens /:’gj:"‘ (C)
What types of blood vessels surrounds the alveoli : %\9 v/ u?r‘)"ﬁ's,«&(,( fJ JS]LJU;:)}J 4
Vein ¢/s (D) Capillary u’)’f C) /&fegr%ed:‘/‘ﬂ (B) Artery S4T (A) '

lﬂUb;Kfu"LUJ i
(R) Lupase /'le (A)

The enzyme that is used to cut gene of interest i ;
Ligase / QU (D)  Restriction endo nucl ﬁ@% r:,v’u'f// C) Amyl g7 RN

m\\)

Which organ is responsible for filteri lood : 6
Kidney ;:/ (D) % ach s (C) Brain Z’,L: (
The base of food chain is always a : 7

Moon 4& (D) Ocean . x+< (C) Sun & (B) .
Mature bone cells are called :
Osteocytes u':” Loy (B) Cartilage
Endoskeleton f:LiCu s izl (D) Chondrocytes u"‘ Vufb( [C
Cochlea is present in : * ;
External ear u.f uﬂ.}.;/;. (B) Internal ear Jﬁu(&u}l (A)
External and middle ear (a8 Qkesnsldsz (D) Middle ear 5 Ké&w (C)
Specific combination f)f genes in an individual is known as : 3 4"..’6‘11-;@;'0@9‘5 SN Kﬁu:)/.g 10
Homozygous U ~li¥x (D) Dominant tuaie 3 (C)  Genotype JL‘}" (B) Phenotype < bsd (A)
Rhizopus reproduces asexually by : c'_t‘/(df u’(u/ JJ’ ’f/ <_'cf udb 11
Budding <4 (B) Binary fission c—u)o’/t
Endospore formation S bkt (D) Spore formation S boosr (C)
Hydrogen bonds present between cytosine and guanine are : ~ : (Jf Ln]ﬂcﬁuiﬂ,c}&(}:&wf Uj:lu:‘./ YLl 12
One 1 (D) Three ¢ (C) Four /e (B) Two 5 (A)

214-022-1-(Objective Type)- 19000  ( 7463 )
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Maximum Marks : 48 ( PART-1 U3l -2) 48: A4S

10 2. Write short answers to any Five (5) questions : J ] 4 /‘f L =y (5) ét & J:( -2
(i) What are alveoli? What is their function? e SIS RY 'S duy}t (Q)
(ii) Explain aerobic respiration. -4’: oo loy J quu .fs/f (i)
(iii) Differentiate between glottis and eplglottxs -é Uk 3/ o ‘f lﬂ{’ 2! Lf 13 (iii)
(iv) Define excretion. . 5 J/" J (U]Uj) /Ggl (iv)
(v) What is the function of ureter? Y. f( V¥ A (V)
(vi) Write down name of different types of neurons. ..Z,: /f (t L (L»’l d/ G (Vi)
(vii) Write a short note on midbrain. &L /‘i £ [ 44 (viD)
(viii) What is hippocampus? ' e U/ u:‘:‘.‘.(r!, (viii)
10 3. Write short answers to any Five (5) questions : . of AR /"‘ L =iy (5) 5(. & (jf -3
(i) Define hinge joints. Give an example. -i:dbﬂ.f -é J/’ L,( u’"i 6 (i)
(i) Differentiate between osteoporosis and arthritis. -_,i,/ 3 u’" i//f »! u’/w’r“’;' i)
(iii) Define double fertilization. o y § Faw)p S i)
(iv) th);'do’?gardeners use the methods of cutting and ?ui%& te. )’Ld/l{,&!/ﬂd/((b L WL (iv)
rafting”
(v) 3Vhat :i meant by homologous chromosomes? é% e fe olp b V < frf:/ Ji‘:’ﬂ (v)
(vi) What are discontinuous variations? W d. Lf /“7 J’V /{ (vi)

(viii) Compare the breeds and cultivars.

(vii) Write any two nitrogenous bases of DN ke 0 ct Lt u’:/t » ‘}f L/( (DNA) IS5 (vii)
ﬁ? ___é B B Y )

) questions : & ez L 2y (5) ét e df 4

example. (R, AV VYRT ST ()

10 4. Write short answers to an
(i) What are omnivores? Gi

(i) What are the reasons-of competition among organisms of St ;’:Jf u‘(‘-f u,ﬂﬂbl.(‘/ Jr I (ii)
ecosystem?
(iii) Write the name of two types of poliutants. el rt L rui ” J JE9T (iii)
(iv) Which are environment friendly fuels to reduce air U c..ufuﬂ iy LZ.& i ﬂdﬂu’ !d’r (iv)
pollution?
(v) Write uses of ethanol. -c‘: /f = £ dJd ).\.@;Lﬂ (v)
(vi) Write two objectives of genetic engineering. -J oG 9 Ok /"/‘ (vi)
(vii) What is drug? Write the name of its two types. -.ia q L (L—’l 99 J J! S k/ ._fu (vii)
(viii) Differentiate between bactericidal and bacteriostatic -é L)/J' J’F Lgf Ly /:é J!UJ’ VU’/G (viii)
antibiotics.
( PART-1I (9 & )
Note : Attempt any TWO questions. e AR ey e ‘3{ JOT
b 5. (a) What is nephron? Explain its structure in detail. -é’./ Ulfc.—g}“d _)l/d/u’l "c_(/u: & () 25
4 (b) Explain in detail the function of skeletal muscies. -é.)lm & J"“’ J (K L )‘/ J’JL (-r)
2,3 6. (a) Describe any two disorders of nervous system. E Y Sy = & £ f’/ Jrs () 26
2,2 (b) Describe the two mechanisms of animal fertilization. -g‘::( k& S L SIS e (&)
5 7. (@) Write basic steps in genetic engineering in detail. -a“cdz‘;“d’f/wgi £ e (L) 1T

. (b) Write a detailed note on narcotics and marijuana. -é {; & J-‘d ’ £ flﬁ} ! J@CL (&)
214-022-1-(Essay Type)-76000
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Q. Paper : II (Objective Type) PAPER CODE =7466 A7 )T - gy
Time Allowed : 15 Minutes (o lin) s 15 1

Maximum Marks : 12 ?..» 12 /J
Z:.Ji../ua L}"Uubdia.:élzﬁdlr//(é i sD s CcBA ol,lﬁ;‘?zgédfr/; O

-(r/}‘”bl&ylﬁuﬁu:u//p(gfr/,/ K| L./QJ()}/IMJLJC;V.Q _z'.‘)/fc;gf-'&/;b(oﬂ)w&l&f
Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Cartilage is a type of tissues : P (J S L cd-\-u 1-1
Cardiac J%¢ (D) Connective - f-@/ (C)  Smooth S5 (B) Muscle JJ/
Dengue fever is a --- infection : e u’@ S dc 2
Algal £ (D) Viral J#1s (C) Fungal K (B) Bacterial f 25 (A)
The example of co-dominance i? : @. - ‘¢JC’>JJEJ:5)/ 3
Blood Group B do+/2 (B) Blood Gro 2 (A) ‘; .\
Blood Group C yws./% (D) BIOQQ\G\(@:;) AB (etos Sk (C) 4 | & "
Which organ is responsible for filtering the blood : % < /b..u i/ /'b / uixu’/ L u/ 4. ;
Kidney o:/ Stomach s.e+ (C) /%aln Eis (B Int ne uw (A) =
The number of hydrogen bonds between a&@% D el Jl'guzﬁuw,t/né"wtd%;lufdé! 5 4
and thymine is : OV P
10 o4O 3 (B) 2 ()"
Separate out painkiller dru@\) 5 115 5T5 d!. 6
Sedatives J%4~ (D)  Antibiotics u‘qfl,&'l (C) Antiseptics g.@{&l (B) Anafge_sics ..Cv&’ (A)
All of these are hormones except : Ry w7
Pepsinogen =% (D)  Glucagon ot (%1 (C)  Thyroxin u’fbdw (B) - Insulin 'J:Jl (A)
Material containing sperms and fluid is called : -5 wf sy J/ £ ¢}’ » g 8
Vas-deferens ujﬂ;‘u fs (D). Cervix JG/ (C) Uterus J7¢ (B) Semen % (A)
Which nart of embryo in seed give rise to plant roots : & Frea2s Lyal o9
Testa s (D)  Plumul Jz'gk (C) Radical £4, (B)  Cotyledon ¢ 4/dY (A)
Which of these is an anti-viral protein : L fay e Ut L § o = V| 10
Interferon ws2#1 (D) Insulin 271 (C)  Thymosin o»d¥ (B) Urokinase ¥y (A)
The length of trachea is about ----- : : ;.&n S VN L2 1
#5516 cm (D) #6514 cm (C) #3512 cm (B) FEE10 cm (A)
The thickness of biosphere is about : 1 5 ¢ Jer AL 12

2% 30 km (D) #¥£10 km (C) %20 km (B) K40 km (A)
215-022-11-(Objective Type)-14500 (7466)
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Paper 11 (Essay Type) (.,,/ 133 ) (b anlan) 1 - 24
Time Allowed : 1.45 hours 2145 0 &
Maximum Marks : 48 M'G}—LL 48 : A F
( PART-1 Jil @)
10 2. Write short answers to any Five (5) questions : : é =R /:?L...vlr (5) ét = Jf -2
(i) Define inspiration. ‘ -éf.d/’d/u"zﬁ (i)
(i) What is a glottis? "Ltf u».DLf (ii)
(iii) Define bronchitis. ‘ -é..v/’d/ G (iii)
(iv) Write the size of kidney. -é/l/&.:/ (iv)
(v) Define lithotripsy. ' _ _é - /‘U/u)"/ﬂ:/ (v)
(vi) Define coordinator. -é .y /“"f Y3 4 (vi)
(vii) Write the function of occipital lobe. | 2 J K,»U.’::Jf T (vii)
(viil) Why owl can not see during the day time? ?ngf)gfi)/u:’)(:u} I (viii)
10 3. Write short answers to any Five (5) questions : : é Iy =y (5) éb - Jf -3

(i) Define bone and give its examples. <&

(i) What is tendon? @\O "c_b(u/v-' (ii)
(iif) What is meant by cloning? @ %\é "L)V&/@Jﬁ (iii)
iv) Define mutation. @% -Zf - /‘U/u" -y (iv)
(v) What is gene flow? ; % "C_U)l’up (v)
(vi) Differentiate between genotype and phe @@ -é u}u‘ sJL}’"/"«.J Es2 (Vi)
(vii) What is nucleosome? K ('c_ t‘rbr(rrgr (vii)
(viii) Enlist two sources of variations: -é /f db) nl o '/” (viii)
10 4. Write short answers IVE (5) questions : .l .-,guz/”[..-,wy (5) ég & Jf -4
(i) write the affects of acid rain. ' -l oljlégﬁgg}'ﬁ (i)
(i) Define smog. _EE S i)
(iii) write affects of eutrophication. Xy AUt S SR {11))
(iv) Write the difference between renewable and -a’f J/u.’. J/(A 8/,3»,«;‘}(? t»uﬁ&b“ (iv)
non-renewable natural resources.
(v) Write dairy products of fermentation. -c”f u’f l/d/uf U’W/ (v)
(vi) Define single cell protein. -é..ﬂ/’db’;/wf’ (vi)
(vii) Define vaccines. _é - /’J sy (Vi)

(viii) Define pharmacology and distinguish it from pharmacy. _2;7_L:.J}Ku";u"’/tiulé.y/‘."d/ﬁ;’fbﬁ (viii)
( PART-1I s )

Note : Attempt any TWO questions. AT 4 ey »ne J/ JU
221 5. (a) Describe the functioning of kidney. -z,fut“f.g)’.’&.:/’ (=) 25
1,1,1,1 (b) What is cartilage? Describe its types. -éugrdi?‘c.ﬂ/g:. AR L ()

5 6. (a) Explain in detail the internal structure of human ear. -éug;&fjg}v&uﬂJuK&U’ (W) .6
4 (b) Describe the structure of seed. -a‘fut_f..v' VJ@ (o)

122 7. (a) Whatis fermenter? Describe its using ways. -Z:ugé’i./’idt&f[.w?‘agff) (W) .7
1,3 (b) What are antibiotics? Write note on their three & .:,i/?‘j)::/:.‘/.c}.:é:u! ?@y’u{:’g&f ()

major groups.
215-022-11-(Essay Type)-58000
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Q. Paper : II (Objective Type) PAPER CODE = 7463 (J)’Lf‘i/’ ) .g{,gir
Time Allowed : 15 Minutes (i) 15 1 &

Maximum Marks : 12 MQ.,Q(,)_' 12 : AF
d:._..«fﬁuuc:_u:uﬁbzé.)é’_lzidw/;{Q.(Qb? ‘u‘{éfé.:D »# CBA :«l‘.fﬁ.‘«ﬁkédﬂr/z L ool
-?ﬁ/r‘jw.,«‘ﬁu[iuﬁojﬂd/c"_/é s { d'_)//:/u:?buyc.,ug -z‘;;/a;@;g//t,’iﬂ;;w&w
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that guestion.

Which one is tertiary consumer : ! ;.wf/gﬂ;/‘}u:u: 1-1
Deer ¢z (D) Lion j (C) Rabbit in (B) Frog Jfbﬁ:‘ (A)
Which type of asexual reproduction occurs in rhizopus : : 4.8)':‘;?/5;/’64);?4.’6 u:(u'.f J-.)ou'éf; 2
Spore formation ti.x (B) Budding £ & (A)
Binary fission u:” 6}«1 (D) Fragmentation U@Af_", 1,8 (C)
Which drugs are obtained from animals - P dufo.t»lu/()" be u:u}lg 3

Aspirin ¢/ 2t (D) lodine¢/3¢7 (C) Morphine u—‘}A (B) (Q@ntitoxins /'KUL?" (A)

Humans breath ------ times per minute in © <2 oL /BA}/’ @(;ﬁ)é"bf) .:;Ub‘_btufuu

4
normal circumstances i.e. (at rest) : &
22-26 (D) 20-24 (C) 2 %&- (B) 16-20 (A)
& PP
The complete map of human genome was published/ in: 7 : t,fl[ dL‘iﬂJ[ l{(y},"i bl 5
2014 (D) 2012/4(;@ 2004 (B) 2002 (A)

Which organ is responsible for filtering the§b§g@ s : 4‘;.113,.'5[{2_/’/ /‘J’:’/UYJT Ty | 6
Kidney aid (D) /S\((éac s (C) Brain ét; (B) Intestine ¢ b-41 (A)

Which is a biotic component o@s\«\st)em : ' t 4.(/@):’/ ( ]’).b,f;!..f;f LK(L/ £ 7
Plants <3y (D) Airlx (C) Water (L (B) Light 5% (A)
How many pairs of spinal nerves arise along spinal cord : tUt Z}ggiﬁz‘ﬁ.s/’d’ LLJL‘IJ g /_Lf 8
41 (D) 31 (C) 21 (B) 1 (A) .

Schwann cells secrete a fatty layer, called :

e QW g B kg2 o
Nucleus U~ % (D) Dendrites,"l.iz5 (C)  Impulses /‘f’ (B) Myelin Sheath »”f"ul’t (A)

In human body cells there are - pairs of homologous bl le iRen. £ ]rf:/ﬂfnu.f ") Sutl 10
chromosomes :
33 (D) 22 (C) 23 (B) 13 (A)
How many bones make our skull : : 96)()'4.‘)5;&{5 Z;{d/h 14
26 (D) 24 (C) 22 (B) 14 (A)
The punnett square is also called : : ugZ,‘_"_/ u’,,f @/Z...w, 19
Genetic board 3. e (B) Score board 5/:31); (A)

Checker board 5542 (D)

Mendel! board 5. i )

214-021-1-(Objective Type)- 19000  ( 7463 )
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Paper : Il (Essay Type) (.;:/LL;;) G aslaaD IT ¢ oy
" Time Allowed : 1.45 hours 145 -

Maximum Marks : 48 M'4I-ZI 48 : AF
( PART-1 31 »)
10 2. Write short answers to any Five (5) questions :  : &0 =iz & L =iy (5) ét e 3 2
(i) write two effects of carbon monoxide on our -d’_a* l/b;éytfu’fu’/(/(/dﬂﬁ?c_m (i)

circulatory system.
(i) How sound is produced by voice box in human? S dr',vd.rﬂ: ’uﬂdbi-—bé'/yJ’J t&ul.«'l (i)

(iii) Define epiglottis. ..Z: ..,.v?’ J J’fﬁ,{l (iii)
(iv) Write two functions of spinal cord. e /j 0w L u(d" L (iv)
(v) What is acromegaly? T Lf ,,/f (V)

(vi) What are the functions of urinary bladder and Vu*bf//aﬁ f/’/:’ulmid//:’u"(’/dfdéuw (vi)

urethra in urinary system of human?

(vii) What is homeostasis in plants? e b( u"/ e g (Vi)
(viil) How level of calcium ions is regulated in our blood? bl lbesl LCQU)J[./ l(:gu"u,?(_ﬂﬂ (wviii)
10 3. Write short answers to any FIVE (5) questions : : JuLli/"Zuulr(S)ﬂtc.df -3

(i) Differentiate between compact bone and spongy bone. ..?_.{ J/ e u:f(f;gr‘ »hgress’ (i)
(i) Define tendons. Write their functions. &l K @l sl Z’: ;._a!/.’. J Shw (i)
(iil) What is meant by fragmentation and give an example. v@ J;la;ybrauﬁmja (iii)
(iv) Write down two main causes for spread of AIDS. (\O b ugfs S » 14 S Lk (iv)
(V) What are nucleosomes? % ot U/ /rrKr (v)
(vi) Differentiate between transcription and @n. vé.( ubu/u“' u"u!/ul J..u_» )iuu\ A (Vi)
(vii) Define loci. -5 -ﬂ/’ J dw (vii)
(viil) What is difference between doml am d recessive allele? VLU/L-@’“ JJ Lyressl Lass (viii)

10 4. Write short answers to an ) questions : ; JHL!?/"Z...«UI:’(S)&:,‘}] -4

(i) Define ecosystem.

(i) What is biosphere?-\
(ili) What is food web?

(iv) Define symbiosis?
(v) What is biotechnology?

£ 4§
94.:/(/:., Vord' (u)
qfch;u’ (iii)
-éw/Ju/u’ (iv)
VLJ/u/c.JJL«C v)

. (vi) Describe the services of Pasteur for fermentation. -é ubuﬁyé.é oy ,8 Jf L o(vi)

(vil) What is vaccination?
(viii) What is bactericidal antibiotics?

(‘L Ay U/ < JA--\-\-LLHQJ (vii)
°¢;/Jc;u'§'tuwtd de/;,‘,; (viii)

( PART-1II (s )

Note : Attempt any TWO questions. S L elly e df 1w
4 5. (a) Describe the osmoregulatory function of kidney. -é Wk J” (j/’:fnf:f K LJ/’/ () -5
5 (b) What is cartilage? Explain three types of -éff.:yb:d/(u'ufu(@.l,p)\f ?‘L,y/@.‘._.).u\.( ()
cartilage.

4 6. (a) Define feedback mechanism.

o B L 3 S G () 6

Also explain negative feedback and positive feedback.

5 (b) Compare adaptations in LR g e u"uﬂ;&_w,/u"du’.nz:smf =12 ()
insect-pollinated and wind-pollinated flowers.

4 7. (a) Write a note on medicinal drugs. _ﬂ % V4 .«Luf L}J’ ()

B (b) Write a note on applications of fermentation. ,.’ﬁg o U Z. oriie 8 (u)
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(2019-2021 & 2017-2019 5 Mo S 438 Mokt .

BIOLOGY (U1). 021 s
Paper : I (Objective Type) PAPER CODE = 7462 A7) 1 2y
Time Allowed : 15 Minutes ( ...;;ff/» ) < 15 1 &=

% 1=
Maximum Marks @ 12 M-‘a -3/ 12 : AF
Z,.,Fﬁunc;,ufu;/’béié:&L/LJ';%{QKQL& -Q‘?zé,JD 4 C'B'A &Uﬁ.’z@?cﬁd‘r’/" P
—gﬁ/r""b“‘y'ﬁou&ufc—//aﬂ.f/: LaK L L/Q’[u://bug}c.ug -é‘J/LLf:L/CL[oﬂJJh‘?&W
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

Many other chemicals in smoke increase Y1 bys /.?)’Uj . c"_)fﬂ ..... /g../‘i_ e afoft Jo) P | 141

production of -------- blood cells :

Platelets ek (D) Basinophil f## (C)  White < (B)  Red 4 (A)

Extra water is removed from the plant body by : : ,g//'g(‘_t‘(.gg@/l}c_()'ﬁggdgij 6| 2
L) é LTI % & =
Evaporation W/;;:.{” (D) Guttation w;jf (C) Transpiration f/w/” (B) Respiration /= 0 (A)
The largest part of forebrain is : : c‘:.,y!*/,c.../&z/,/} 3

Cerebellum (L’d[ (D) Cerebrum ¢z (C)  Hypothalamus J%.‘f;f& (B) Thaiamusu/g (A)
Which hormone is related to child birth : L& Jl’?c,ﬂ,g,g,(»iun}u;( 4
Thyroxin gr(uéu? (D) ADH hﬁ,,/:fifg"! (C) Vasopressin u;:”\a@ Oxytocin (- jJ( 7 (A)

S ST LM Pl ughdsys | s

Immoveable &_lsl__z=/7 (B) Moveabl O%Q??/ Lyl _S=i7 (A)

Hinge joints Szl (D) Sliétnﬁl/ veable Lyl S84 (C)

-------- seed have epigeal germination : @@ : c‘_wﬁyj ‘J‘f@luﬁ/“_-- 6
Cotton Lf (D) (ﬁ@ (C) CoconutJ“ 4 (B) Maize 6'( (A)

If an organism has two different alle esfora - c".dUp(j AN wmgy‘)?l.j:';& c/:."r‘;uguf/u{gvgﬁ i
single trait, its genotype is said ’

The joints between skull bones are called :

o067 (B) Homozygous  uSuilsw (A)

Hemizygo
Homologous ‘f;’m (D) Heterozygous uuf.u) i34 (C)
The number of chromosomes in human body cells are : : ‘LJLC;J/"}”!‘)/L):}L"/L ()'JU! 8
48 (D) 46 (C) 44 (B) 42 (A)
A recycling of one tonne of paper can save trees ° ; ugélgé_tf&ua,é_lu L(ung‘w’KJ..Q 9
20 (D) 19 (C) 18 (B) 17 (A)
Which is a biotic component of an ecosystem : : §.U/2J£§((L/£i 10
Producers J,43s7 (D) Soil ¢ (C) Water dg (B) Air sz (A)

The hormone which may prove effective against : ;.l‘,‘LL;( . Ccﬁg,:&/‘u:g;auﬁ/‘féu;%ﬁmétmuwg 11
brain and lung cancer is called :

Urokinasej!%/,f (D) Interferons '/"/::’/”31 ©) Thymosin %1% (B) Insulin Jljr” (A)
Which drug is obtained from animals : : ‘Lwﬂwfd"lpc,uuju 12

Morphine ¢4/ (D) Aspirin ] ¢+ (C) Digitalis J“ffﬁ (B) Fish liver oil JEK/@LJ‘{ (A)
215-021-1I-(Objective Type)-15000  (7462)
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( PART-1 U3t @)

10 2. Write short answers to any Five (5) questions :

(i) Differentiate between breathing and cellular respiration.

(ii) Define pneumonia.
(i) Write the effect of smoking on circulatory system.

&l ez L ety (5) bl e & 2

&GS S )
R NG ()

20 N T P N o (1)

(iv) Differentiate between renal cortex and renal medulla. véfg 3/ S Us J'@ 2! ngb/ Lﬁ/ (iv)

(v) What is tubular secretion?
(vi) What is ganglion?
(vii) What is meant by brain stem?

(viil) Write any two functions of spinal cord.

10 3. Write short answers to any FIVE (5) questions :

(i) Define skeleton.

(il) What are osteocytes?
(iif) Define reproduction.
(iv) Define parthenogenesis.
(V) Define inheritance.

(vi) What is transcription?

e oS (i)

el e £ e (vil

& Joinn & £ kL (i
s &l e ()L S -3

R JUFCARINN|

@@ U Ut (i)
©Y <& w/ § Fhg i

O%ﬁ\o-%{ i i 25, (V)
N

2§ s ()
e W RF )

(vii) Write down characteristics of pea piant@%S -Z{ 7/ G’ak"}"‘? J &3y L A (vii)

(viil) What is punnett square? 0
10 4. Write short answers to any Fli

(i) What is meant by ecosystem
of natural ecosystem.

(ii) Differentiate betweenpo
(iii) Define food chain and give an example.

ation and community.

(Iv) Write the symptoms of dengue fever.
(v) Define biotechnology.

(vi) Write the uses of ethanol.
(vii) What are synthetic drugs? Give an example.

(vili) Define antibiotics and give an example.

ﬁ estions :

etwo examples -’.“:uijt"';;J(L/:gl&J,:’ ?4.;1/&:’4;(’”’,5! )

e O ¥ wx (vl
: iz L i (5)eLedS -4

-é 0/ J}:{ 23! U:’:{.’.'E: (ii)

< Jt"f b—g 2! é 5..9_1/7 J fﬁ'}’ (i)
7 ST GO I TR

2 f G (W)

& U £ U (i)

S Ut O U el b (vil)
L e w2 ) § B (i)

( PART-II =)

Note : Attempt any TWO questions.
5. (a) Describe the osmoregulatory function of kidney.

4
5 (b) Describe the components of human skeleton.
4 6. (a) Describe the structure of a neuron.

5

-é/@gﬁégmnﬁc_éf Dy
-é UQJ’, u’ﬂ:{u’ﬂ ¥ ead (W) .5
2 gk & L s Zgul (L)
S8 Y esl § gl (1) L6

(b) Explain various methods of artificial ‘éyw;Ju}?)JgLMm}iﬁﬁ,&WJ:u»g ()

vegetative propagation in plants.

4 7.(a) Describe four sources of medicinal drugs
giving examples.

b S o e Bus e L el ¢ () 27

5 (b) Define fermentation and describe its u’éf:/ b u"/ﬂ{ G)} L Ui ﬁ-/ u;{/'? u( uﬁ"w/ ()

industrial products.

215-021-lI-(Essay Type)-60000
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Q. Paper : I (Objective Type) PAPER CODE = 7467 CAS» ) I ggdr
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7 ot 4 # nt i 7 * & 7, 4 ; 7 s Ty
B e ia eSS Sk LS Hmsie L A ELI A3
Mote . Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Who was first to propose the mechanism of evolution : 1 \;ﬁﬁ;ﬁg ¥ p@zié‘;c,.,/d'_./ 1 -1
Abu Rayhan @iz, 4! (D) Buffon /% () Darwin /213 (B)  Lamarck Iy (A)
When was the complete map of human genome published : : Lfy/ () L’?Jﬁd'{ &/(iﬁ‘?iui.ﬁl 2
2002 (D) 1992 (C) 1982 (B) 1972 (A)
The length of spinal cord is approximately ----- cenlimeter : e 3)“' QJ /ﬂ’-’&ﬁ".w- [q, ;‘J 1 gf /{: 3
40 (D) 30 (C) 20 (B) 10 (A)

O o
All ecosystems of the world together form the : : @@ J }"/ ,{ f rl/ Z K2 |4

Biosphere /t"’;:t (D)  Ecosystem (L/ ,{ 1 (C) Community@:fo }  Population uﬁ-",;'l‘ (A)

< )
Which drugs include aspirin : @ ebrrhe 1_.»'0[;@(@ £+ 15
Drugs from bacteria :,g»m/fj‘ bet & (B) ictive drugs AT (A)
Synthetic drugs c«&»’d‘.{t‘ li@ Drugs from plants .:..\,»lu/(f’ by (C)

S n . .
t%\d)// is .' ;u’i’Jf/uﬁfﬂdb&_:’:é/l}ﬁ@c—(ﬁdU‘ 6
2 20% (C) 416 % (B) 4 10% (A)

The amount of oxygen in expired air in
44 36 % (D)

In how many days, rabbit's errﬁ%j develops into new offspring : ;btiggr’u;'{:;z‘. « ¥ A KJff',u!ui:g./ 7
¢ 50-52days (D) () 40-42days (C) s 30-32days (B) 2 20-22days (A)

The appearance of drops of water on tips of leaves is called : Y1 %fff d./.:.c_. ﬁé:&gguyb”éuié 8
Osmoregulation u:"‘;{u‘}' (D)  Osmosis S (C) Diffusion ¢j7¢%3 (B)  Guttation gf‘:f (A)
How many hydrogen bonds are present between ; ugz.tgz.g;}cg&n:ggguwéuflf 8 c/;'év 9
cytosine and guanine :
S (D) 4 (C) 3 (B) 2 (A)

Which cartilage is found in epiglottis and pinna : ! ﬁ;t'tgj_,gu'f t, 9 J’M@é,wuf 10

Collagen yzad }f (D) Fibrous 5§ (C) Eiastic (k! (B)  Hyaline V’-‘-’?{, (A)
Which lobe of human brain is concerned with hearing : a%y;u/u(é”."’ynlé‘.’:y,’lzg),v‘/d,t:{}l)l 1
and smeli : ‘ '

Temporal JJ:;f (D) Occipital J"f"f 7 (C) Parietal j /l/‘~ (B) Frontal % (A)

» b
Which carnivores are called top carnivores : S &/{_f I 38L g2 12
Secondary carnivores s L8S/ AL (B) Primary carnivores 133065 417 (A)
Producers irgiy (D) Tertiary camivores Lu(.807 (C)

214-020-1-(Objective Tyoe)-18500 (7467)
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Paper : II (Essay Type) (..7,:/1;;) (G daanland) 11 - 24
Time Allowed : 1.45 hours 145 0
Maximum Marks = 48 48 . A F
‘ ( PART-1 3 )
10 2. Write short answers to any Five (5) questions : : @ =42 A2 L iy (5) ét < & 2
(I} What are intercostal muscles? Y + J’K/l (i)
(i) Write the causes and symptoms of emphysema. 2L, /_,LUmL.ayi:d/ [P J’ =1 (i)
(i) What is passive smoking? How it is dangerous? ‘c.c'r.fl./z’u)f "a&/;ﬁ/r").m.u (i)
(iv) Define excretion. Lok -7 JQ*HMI (iv)
(v) Write the causes and symptoms of kidney stones. wmm._.wz.d /? J;.:f (v)
(vi) Define sensory neurons and motor neurons. % f’/ -3 /"J S It s /Urd/ (vi)
(vii) Write two main functions of spinal cord. _al (K Y uKJ’ L (vii)
(vil) What is paralysis? Write its cause. -&. 2 J JI Lf g_,b (viif)
10 3. Write short answers to any Five (5) questions : o = |- /" L =iy (5) éL &= Jf -3

(1) Define compact and spongy bone. @ c{_ﬂ/’d/uiuwm_—cf (i)
(1) What is exoskeleton? Give one example ?@L&f’ "aL‘rU/ J.;..J.;.x..., preceny(n
(i) Define alternation of generation in plants. ﬁ/\ /JJ“ZJ - IJ"/ TUEUy (i)

(iv) Define Spermatogenesis and Oogenesis. el y /"L; sl sl Vet X (iv)

(v) Write difference between continuous and<i uous variations. _&6 u}( WJ’%{»U’V (v)
(Vi) Define co-dominance with example. @ -q:c;dVJJ /"”d/ u"’"’” 5 {vi)

(vii) Define nucleosomes.
(vil) Differentiate between domi

_.v/’ g /,,,f, (vii)
I%Ie and recessive alleie. ?9. L-‘/u‘gf"lw‘—/ 23! J’;._,,,gr‘,, (viit)
ive (5) questions : : ol <Al /"' L iy (5) ég & Jf -4
e 0 sy Tl 65 (i)

{I) Whatis denitrifi

(i) Define community. L& .__.v/;" J L:"rf (i)
(iii)y What is trophic level? Te L-( J}J ..1:/'/ (i)
(iv) Differentiate between ectoparasites and endoparasites. éj u,’g/ v L/f/' a4t sl L/’/‘ r( ! (iv)
(V) What is recombinant DNA? = Lf FARIDLRS] x_n_x.Lu_\..fLs) (V)
(Vi) What is fermenter? ‘e Vg (vi)
(vii) Define drug. & w7 s (i
{vill) What is a vaccine? ‘e x[ J-l-&lf-l) (viii)
( PART-1I (23 2 )
Note : Attempt any TWO questions. -d! <R L ey » e JJ/ Y
4 5. (a) Write a note on structure of nephron. L& Y A J u;}/ (1) .5
5 (b) Explain reflex action -é h.;:»La: J J" u,ﬂw ()
4 6. (a) Explain axial and appendicular skeleton. -d. <ol 3 FF /:(yl 49! J’/(f () .8
5 {b) Write five advantages of vegetative ,é‘g Py VL L u”cu iy d/ Uy (u
propagation of plants.
4 - Ut G LA L o250y o2 s (L) 7
7. {a) Describe the importance of bictechnology in the fields of medicine and enwronment
5 (D) Describe five sourcas of drugs produiction _Zf_/b !.Cf L L J.;, o (._, )

4

214-02C-1-(Essay Type)-74000
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Maximum Marks @ 12 12 : 4 F
L R ey Ju:ﬁfjifé,;&L/[.Jfr‘;/?dﬁ}lﬁ -;J_?.’:ié—:D » C'B'A ..':«Li:?,;f/gf.d.';gf ]
,szﬂrwvlﬁa/ijivﬂo/r’d/i,fq Jo¥ L L/Z;}’L‘J;;')D}L}C.vg _"i‘:/.{c;,u)f'g/:l.}gf'b:ah?&fibf
Note : Four passible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting o filling two or more circles will result in zero mark in that question.
The abiotic component of an ecosystem s - I M4 Jg’gu 4 ("'/:{i 1 -1
Producer +isy (D) Herbivore /354 # (C) Sail (B) Decomposer /Jx_,{ 3 (A)
External fertilization occurs in ------ : : §_dngﬁ S— g%"j’ﬂf }UEP..( v
i . z . ’7.
Crow 1¥ (D) Fish Jef {C) Hend,r (B) Rabbit 77 (A)
g ; = . % I T 2
Which of the foliowing drug is obtained from plants : ? .7.dxgufbc,u):zd‘»uuﬂufg)_’;b» 3
& e . ) :
Tincture 4~ (D) Aspirin ¢/ £ (C) insu!mui)ﬁf (B)/z\ Morphine ¢4/l (A)
> G
Most of the gaseous exchange in a plant leaf occurs through-—: & Gt e%)@?o.\gib’u.vﬁuﬁé_z:;;g 4
Stomata {x 5 (D)  Lenticels }Lfé'y (C) Generai suff (e (B) Cuticle ._f’:.{/ (A)
. 25 .
Yogurt is made from mitk fermentation by ------ : O% 2<% E?U(&— L D@Jw};:éﬁgmﬁ; 5
Lactic acid bacteria g,}{é 2 (B%@ Saccharomyces ):‘JLM.C (A)
Bacillus '._F)'&" % Yeast oz (C)
v 3 o /ﬂ 5 -
Which organ of man is responsible for filterir N blood : ; {...ﬂ:..»:"ﬁ’- ,(/'b:(u:’u’c f L«uf(u’n 6
Brain {t» (D) St%@@@i«r (C) Intestine <=1 (B) Kidney i (A)
R :
The base of food chain is always by @ ~w- ; A% S bk u( JE Sy 7
Primary ¢ er iA 34, (B) Producer ridss (A)
o o
Decomposer 2285 (D) Secondary consumer /{"/(rj/,&‘g (C)
Number of pairs of spinal nerves arising along spinal uj?ﬁ:..)ﬁ o é):)fgc;dprinfgéuUS 8
cord cf human is —---- : : )
33 (D) 31 (C) 29 (B) 27 (A)
In nervous coordination of human nervous system : ugZ_/J’f - o {L;i‘df"ffk_‘g;ﬂ'ﬁ&:f'ﬁd@i 9
response is an action of ---- after receiving message :
Effectors & (D)  Coordinators S 7 (C) Receptors J 42 (B)  Stimuli J1 55 (A)
. ’ ; 5 o B, A TN
Which genotype of human blood express co-dominance - : é—ufjfkbu'" ::/{erdufgfuiuu' 10
o) i (C) "1 @) i)
X
Human babies are born with about --— soft bones - PSS %}U:U’;ng.ﬂ‘@?%édu} 11
400 (D) 300 (C) 200 (B) 100 (A)
An organism has two different alleles fora Z.u:‘”l:-- :(_5 Br’:ﬁf.'ug:ﬁr%) uff,,-.a:wﬁ.{fu:ju l.p..{l 12
sing'e trait. Its genotype is said to be °
G Co
Heterozygous u’ylb/‘j (B) Hemizygous u"‘q)u,‘ (A)
Homologous ;f;’r‘:f (D) Homozygous Jg‘b’m‘ (C)

215-020-11-(Objective Type)-14000  (7464)
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( PART-1 J3 2)
10 2. Write short answers to any Five (5) questions : : J AR 4 /‘!L._Alb' (5) éu & Jf -2
(i) Define homeostasis and give one example. ._2:1’ Lf..ﬁ»ii...ﬂ/"o(u"’/ff ()]
(i1} What is bronchitis? Write the name of its two types. -Z”.U(LZ./.(LJinJJi “’c_t'fy/u‘%;/, (i}
(i) What is meant by stomata? Write their function, -&./frfgu’ Vc:,ﬂ/l/c.-i/'!:’ (iii)
(iv) What are succulent organs? Give example. id Jo (‘u'g_,yp(/fj;_,.),é (iv)
{v) Define nephron and write name of its two main parts. -éfté u,v"é./»ﬁgjw 4.,;)/*’&):}’ (v)
(vi} Differentiate between aqueous humour and vitreous humour. éu}u" A o /!"JJ}(’ (vi)
(vii} What is meant by tapetum? e Jp lf F (vii)
(viii) Define reflex arc. -é ...el/ J T oSy, (viii)
10 3. Write short answers to any Five (5) questions : e oz Loy 5) By = O 3
(1) What are hinge joints? Give its one example. s Y .,g S L l,f J"?i 6 (i)
(ii) Differentiate between tendons and ligaments. c{ J/ e J:" G ol i (i)
(ill) How does honey bee reproduce? @ s Jy’»ﬁ.; L/’ J/ u"’( J /V"' (iif)

(v) Differentiate between genotype and phenotype. -i J/ P ../Lr" /;' ../i.*x" (v)

(vi) What is incomplete dominance? Give an@@ Wk Je _M "a.. l/ J':C (vi)

(vii) What are homdlogous chromosomes? @ ot Ly V /rr’:/ ﬂy‘f (vit)

(iv) What is meant by alternation of generations? @O e Ay L/ & / <2 AT u” /f (iv)

(viii) Define DNA replication. @ _’cf':( ..y/s J oSl (DNA) < Ig/1$55 (viii)
% . s p
10 4. Write short answers to E (5) questions : : &2 ey (5) ég e df -4
(i) What are decompo St Lfbj)ju'S H
(i) What is denitrific . ('c__ Lf u...u.a.i.\AJ/Ld: (i)
(iii) Define parasitism. = ...91/ J r/'l/’,ﬂ.— (iii)
(iv) Define eutrophication. -&.. ..,zfj" J u_.u.;.(a\).w).: (iv)
(v) Write the function of hormone thymosin. ..df (K K ¥ u’/w (v)
(vi) What is the meaning of fermentation in biotechnology? ‘< b U/ ¥ u"// S GAE Ll (vi)
(vii) What are addictive drugs? W l{ f,gm s ,J (vin)
(viil) Define antigens and antibodies. ..’{i: - b( ;;5;&3'1 23 u’ub"l (viii)
( PART-1II ¢ @)
Note : Attempt any TWO questions. o =R L eliy »e Jf Py
4 5. (a) Explain two methods of dialysis in detail. *é ool o J:d J u!é’/ w L /L'f () .5
5 (b} Write a note on pancreas. L@l L £ JL/G.? ()
4 8. (a) Define cartilage and write its various types. -éug(w{uw i...g/".d/éig (W) .6
5 el § U bl O L uj’//,d,: ()
(b) Discuss any five methods of natural vegetative propagation.
4 7. (a) Explain basic steps in genetic engineering. -’é-: Jk S b L oE ) e (L) L7
5 (b) What is meant by antibiotic resistance? S s/ | o =717 =9 Sk L u-@fg&f (i)

215-020-11-(Essay Type)-56000
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Z_uli...«n:c.g}'u’}ba':é._:&bféd!r/;{‘éﬁ}'i - JLED i CBA MR L Syt S

-bjnu"-bli.,.«‘zuifigﬂau‘dfi_/z JoK L L/Uu:/":u&}c_ug JZ;‘.’:/;&&/:U:?‘:WJW
Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.

Cutting or ﬁlliné two or more circles will result in zero mark in that question
For all ecosystems the basic source of energy is : Le 25 JU«J ¥ i L+~ £ U1 -
Fire J T (D) Sun Zuy» (C) Water d& (B) Plants <3y (A)
Asexual reproduction in yeast take place by : = &yz 2ok ‘Q? (f’ ;f x| 2
; Spore formation u%lim; (A)

Multiple fission u}’ Ju"t (B)

Budding 4% (D) Binary fission /) YA (C)

Which one of the following disease is cured by vaccines : fe Cl kf 2 s Z /(-[: Wik § Sk JK 3
Malaria | 2 (D) Cancer /‘-’-( (C) Smallpox bg_ (B) AIDS k! (A)
: t‘n@:{):pb’u,..u}uiuul4

Where does the gaseous exchange occur in human :
Alveoli le;j:.’:l (D) Bronchi J¥s2 (C) Trachea _Lv..(/’ (% arynx (s ad (A)

(&1 3s) O
&5
-"@%5'-

L




- LIMAr-16-17,

Which are decomposers :
Fungi and bacteria L 25 s $# (D) Algae &) (C)  Animals e (B)

s of ik
Plants <y (A)

Which organ is responsible for filtering the blood :
Stomach s> (D) Brain {l» (C) Kidney wt (B)

¢/1:M:K¢.//"/uiu’{|vuf

Intestine ¢/ b4 (A)

Oxygen =51 (D) Blood celis )-’JJ' (C) Hormones “»%} (B)

Mucous u/ = (A)

Anti virus protein is : - u" 3/ S S| 7
Urokinase = 634 (D) Thymosin /0¥ (C) Interferons %2 £ (B)  Insulin gf, 1 (A)
What do some bones produce : L dlr. lf UH »{ 8

Number of pair of cranial nerves in human are :
16 (D) 12 (C) 14 (B)

S Ln e in & i JS o

10 (A)

True breeding means :

e A ¥ s 0210
Heterozygous w3l ; s/ (B) Homozygous uu.i,}.‘:l s (A)
Phenotype — £ss (D) Karyotype <ty ﬁ.( (C)
Root develops from : L & 5 111
Radicle < gﬁéx (D) Micropyle < J;:f L (C) Plumule & dr’} (B) Testa < i# (A)
The number of pairs of homologous chromosomes in human cell are * : iRy 2L /n’u‘:/g’rmﬂg}’ duinf12
23 (D) 24 (C) 3 26 (A)
214-019-1-(Objective Type)-18750 (7463) %ﬁy
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Time Allowed : 1.45 hours s S 145 0 =
Maximum Marks : 48 L//’e 4/ /o /? 48: AS

( PART-1 J3 .»)
10 2. Write short answers to any Five (5) questions : : 4 O] 4 /‘? L =y (5) ég i 8/ -2
(i) What are the effects of smoking on teeth? S Lnsy ety YVl v ..ﬁ’r,' (i)
(i) How sound is produced in voice box? ?c‘:. Jn la d_( T A J( J’” (i)
(iii) What is the function of hairs and mucous in the nose? U v (K lf Jf w2l Jb 241 S (iii)
(iv) What are the causes of stone formation in kidney? A 3 g & $E A s/ (iv)
(v) Define homeostasis. Give an example. B Je ..g 1 é ...g’/‘? J J"‘"" v (V)

(vi) What are meninges? Write down their functions. -é e _Jb"' Z (V1 éf 2 ;?u‘: (vi)
(vii) Write down the function of rods and cones present in -é_{/‘gf’ Ko sl 33t sl lé-/Jf T (vii)

the retina of eye.
(viii) H:\;ee:oi:’egs; st,::an be treated? Y CC b ([ c:.( Lk J/ (viii)
10 3. Write short answers to any Five (5) questions : . o O 4 /‘? L =ty (5) ég & Jf -3
(i) What two minerals are found in bones? ' .:«gp' » uf S (i)
(ii) Differentiate between tendons and ligaments. == 0, N u’:" G o sk (i)
(iii) Define reproduction also write its importance for species. Qg ‘/:UT.JJ Lu!é - /‘U&f?’g-i (iii)
(iv) What is micropyle? What is its use for seed? ‘< l,,é V! 4. ZE ?4‘;_ l[ J’l 3 Sele (iv)

(v) What is meant by alternation of generations? @ fe iy l[ R ST /fi.ﬁ (v)
(vi) Differentiate between homozygous genotyp d ’Z:’ O/ L U s g ) o Cs2 = iym (Vi)

heterozygous genotype.
(vii) What is meant by co-dominance? @ Y. Jlp L_f P u’?'_;} s (vii)
(viil) What is theory of special creati © fe v ,_,}" ¥ 3¥ 5 (viii)
10 4. Write short answers to e (5) questions : - 4 =2 /‘-? L ey (5) éy & Jf -4
(i) What is meant by d osers? Give an example.  -.&» u’ J& S sy gf & )/J)Jd 3 (i)
(ii) Write down four disadvantages of excessive denitriﬁcation.-g :«tlﬂzgé u’:"ﬁd A selie Jzt (D)
(iii) What is green house effect? Write the name -fiu/(tﬁ u:*-f:/ shef f(" s S el s 704 S (i)

of two important green house gases. p.
(iv) Write down four uses of formic acid. & 7/ =0 b L a2 L6 (iv)

(v) Define the term biotechnology. Also write its one benefit. & o4 £ -é - /".J Sl (v)
(vi) Differentiate between pharmaceutical and addictive drugs. _é Y9401 »TE 5 Pl (Vi)
(vii) What do you mean by narcotics? Write down its one use. -’c‘g_/fdk-?‘.,{ldf (194 ‘.‘c"_:l/k[c.u‘%t (vii)

(viii) What are sulpha drugs? Write down its one use. -é Jie1 .Q ¥ U1t y’ 7,364 (viii)
( PART-II ¢» )
Note : Attempt any TWO questions. 4 AT 4 Loy »e Jf O
4 5. (a) Explain osmoregulation and thermoregulation. _Zf.:’/.wu,Juﬁ-‘-’:Qr/ 23! ""J{A{ T ()5
5 (b) Write down the name and explain -.”.;':’ w2l s @F(t&uy“’.if’i: J’ Lrsut (&)

different components of coordinated action.

4 6. (a) Define arthritis and describe its types. -é ;f" = S Ut i ..g/"" g u'.'/!/.‘:?' () -6

5 (b) Define germination of seed. -é{fﬁi/‘djvﬁgj_ﬁu% -é..gj/‘.’.d/ug]gfé (o)
Describe various conditions necessary for seed germination. -

4 7. (a) Give a detailed account of urbanization. @l sy J’-‘}/ Va1 L e (U7

5 (b) Explain basic steps in genetic engineering. -?_f’:’ Uk S I, Gabs L £ k‘{! e ()

214-019-1-(Essay Type)-75000
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Q. Paper 11 (Objective Type) PAPER CODE =7468 GAS) 1L 2 gl
Time Allowed : 15 Minutes (erfip) e 15 ¢ =
Maximum Marks : 12 L HP A st S 12 : AF

L w2 e e u’u,/bzc_:d.Vd:dlr//LéKd‘i ..u"cCL.:D # C'BA utli.ﬁ/w:d'r/ <9

-{xu"bkg..a’:?u); -...a/!‘d,c‘_.)//, Jo¥ 14 L,//yu)/ba:&;c,up g )/fc:_uf'&/ﬂ//b.ala/dﬂzf
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

A cluster of specialized cells which surrounds and nourishes, : ‘at'tk'%.la:l}i'c.lﬁ la{v_f'@{/f";)z‘)‘.ﬁﬂ 1 -1
each egg cell is called :
Cervix J;/ (D) Uterus J~¢ (C) Follicie gﬁ!’ (B) Fallopian tubes %% /% (A)

E-Coii bacterium was created for synthesizing human growth  : L& e /:’-?dll:'id | U':Z_l‘f.uy‘/[,i’/ duif2
hormone in :

1977 (D) 1870 (C) 1967 (B) 1955 (A)
The inner layer of eye is sensory and is cailed as : 4{ e §5 dsul S £713
Retina (s (D) Choroid %11 (C) Cornea _lu/ (B) Sclera ! ;" (A)

The specific sequence of : c:.t'W/ t'&vb/jij"ygfiflfrgfﬁelub Tf{( f e .Jii’egﬁég.idldi 4

DNA nucleotides is copied in the form of messenger RNA nucleotides is kn S

Translation u’"H/ (B) & %Q’ranscnptlon u" P 17 (A)
Translocation ¢/ :’J' I/ (D) @% Transduction .f/;u" i7 (C)

Which of the following drug is obtained from plants : db J J‘ b Undin g U”/ & S J5
@
Cephalosporin ¢/ s# s (D)  Insulin df-’r’l ( Morphine u-zl (B) Aspirin ¢/ 2+ (A)
\) & i e - o
N ety (u:Ju..:w[.wfy) 3k 9 nl6

The World No Tobacco Day is observed e
year on :

31st ) 31st March &L 31 (A)
31st August =1 31 (D) 31stJuly 302 31 (C)
The latest method of vegetative propagation is T I | P 7 sse € haKanyn 2|7
. ’{ = & b 2 Z
Bulbs yL: (D) Cloning &¥ (C) Cuttings )ﬁ-—f (B) Budding «£ % (A)
The maintenance of internal body temperature is called : : <"_.t‘l}:f y’uf/(’ G'/:ﬂf/,?/:duﬁ lﬁf)‘ 8
& &
Osmoregulation u’-’l;(/r":' (B) Homeostasis T n (A)
o0 U .
Excretion =~ (D) Thermoregulation J-’} % (C)
The specific combination of genes in an individual is known as : ' ‘at'lkf W taanS A2 4 )L |9
Genotype o~ t+¢ (D) Allele u"’ (C) Karyotype ../Lg/,.f (B) Phenotype by (A)
Which bone is part of appendicular skeleton : L o K sl E Aty aty c).v" Je 10
Sternum (/‘ (D) Skull dz;; (C) Vertebral column H(J s (B) Pectoral girdle J5/J1r..c- (A)
The largest part of forebrain is called : P e t'l‘:'( e K 29|11

Cerebellum 'r“f‘u’[ (D) Hypothalamus (/< A_‘;‘E:;’} (C) Thalamus % {_;' (B) Cerebrum ¢z« (A)

The base of food chain is always formed by : ' C‘. < J 24k J S 32012
Food web 5.:.:5;’ (D) Plant (producer) by (C) Ecosystem l/""/ £ I (B) Animal J;’tg (A)
215-019-11-(Objective Type)-14250 (7468)
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( PART-1 U3l »)
10 2. Write short answers to any Five (5) questions : & oz AL ey (5) ét e Jdf -2
(i) What is the difference between breathing and celluiar respiration? "Luftfdgf f-//:" 2! J" (i)
(i) What is pneumonia? Write its symptoms. -Z., // =k J Ve lfb/ (ii)
(ili) What is meant by lung cancer? Write its two causes. @l .,wadu’ / ‘g:'/u/c./"z.u: s (i)
(iv) What is called guttation? (¥4 4": < u-u.,-f (iv)
(V) What is meant by lithotripsy? S iy tf e W ()
(vi) What are two important functions of spinal cord? V404 ¥ (1 2 L ¥ J’ L (vi)
(vii) Differentiate between myopia and hypermetropia. -éf /f S/ U LA /{, s sl L (vii)
(viil) What is paralysis? Write down its causes. -é‘.’ // =\ J V! e U’ éb (viii)
10 3. Write short answers to any Five (5) questions : &l e yz ﬂé_.mr (5) ét =df 3
(i) Differentiate between movement and locomotion. - 3/ l/ o d(»d’ 29 J/” (i)
(i) What is skeleton? Write one merit. -2.{ /f 046 e e SRl (i)
(li)Explain parthenogenesis with example. oy & .Jl/ J u"’) ) L (iii)

(iv) Write down procedure of tissue culture. é{l -é K ) ¥ /{ & (iv)
(v) Differentiate between two methods of pollination. % Uk d/ LU, L gf' d:’ (v)
(vi) Differentiate between transiation and transc @a’: (‘: s u/’ S u’ P’/ 2! u...u.L....t = (vi)
(vii) What is difference between homozygous &ozygous" "4.;)/'“‘}5 .fglu Y- u’cl/r’n (vii)
gO volution. _.é _{f 94 (9 L o6 G_L{t (viii)

) questions : ez iy G L & 4

(viii) Write two important processes for

10 4. Write short answers to any F

(i) Define ecosystem. é J/’ J ,’"/ £ (i)
(i) What is deforestatio e its two effects. -éub._«’/inﬁu’l “:_t/(u/ bd:)dt/d/....lb (ii)
(iii) What are pollutants? Give two examples. i .j’ G J W St BT L u"':" (iii)
(iv) How cheese is formed? T G d: (Cheese) Z | & (iv)

(v) How human growth hormone was obtained ?tﬁt'lgl[f "/7{ sl 5/ JU’%; £ }f'...@:f (v)

before genetic engineering?

(vi) How terramycin developed? "éf élﬂ c‘_r e ;.l/' (vi)
(vii) How sedatives work? Ut sl f( 4{ iz (Vi)
(viii) Differentiate between bactericidal and -2}: uL«J}uﬁ LS '...@f,' /C 2! JA (o )-C (viii)

bacteriostatic antibiotics.
( PART-1II (9 & )

Note : Attempt any TWO questions. 4 ez ety we §F 1 w)
4 5. (a) Describe the two types of dialysis in detail. -é/ U L 9 J A () _5
5 (D) What is meant by neuron? Describe its types. -’éug(l}ufw el gl (o)

4 6. (a) Define joint and explain the types -é.:)lhc. u:‘&d/rufJJ}'zL}ﬁ):' ?4"_31/9/:_5;2 () .6
of joints with the help of examples.

5 (b) State any five methods of natural S d )@;J/& u’-‘g'l{ 2733,3 ( )
vegetative propagation.

4 7. (a) Explain producers and consumers with examples. -Ef_-f guibyu,J;/g '/'C’l irdhy () L7
5 (b) Describe the basic steps in genetic engineering. -’a.i: Jk J’ 9/&:}_}.5 £ ’/.ff 'v@:-’ ( -)
215-019-11-(Essay Type)-57000
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Lizarne Jfusihd ése v vy 3632 -t 2D 5 CBA clizlel iy &5

-fﬂ/!‘;_lzlﬂ'.:ab?a/}:zu:gn’JLﬁ /.:K L J._-/(/:J())ff)s)&)c;ug' -Z’.‘J,’{L;J_'_”'LLU:;bWJW
Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Diazepam is a drug of : - A
Analgesics JC:U" (D) Antibiotics uf):' Ld':"f (C) Sedatives i~ (B) Vaccines fg’ (A)

The enzyme which used to dissolve blood clots is : e ’;' / ﬁlvbi./‘?fu) }@Lu} 2
Urokinase »= 65 (D) Tripsing/ %/ (C) Pepsin /% (B) Amylase HL;VJ (A)
Making a normal pigmentation is example of : L JU" L MGWJIL 3
Chromosomes j'.v'f:/ (D) Traits u':/' (C)  Genotype 7 b5 @@ Phenotype * ess (A)
Encyclopaedia " Al-Tasrif" is written by : ¢ %ég:\‘/ytﬂ/ "t /4’7!“ Liy Al |4

Al~Haithamf:"f (D)  Alilbn-e-Isa d’fwd‘ (C) Abu-al{-;f)%@?‘ 11 (B) Al-Farabi QU (A)
> ({_&UJ 5/%}1 L5

The length of spinal cord is :

FE<70 cm (D) /-:ero cm @@ %40 cm (B) f‘:g}“zo cm (A)
Female reproductive part of flower is : % : | ‘Lt'lk-':ﬂd,gj?ku;{ 8
Petals ¥ (D) Is 4 (C) Androecium ﬁi/}‘gl (B) Gynoecium (ﬁ'ﬁb’ (A)
Charles Darwin proposed the mecha;i?,m of organic evolution in : A5 YK F K&@'ﬁ(}yti..uwiuik 7
1900 (D) 1930 (C) 1882 (B) 1838 (A)
Non-renewable resources are : ggJ/I/:,g A;J: FCy8
sail ¢ (D) Water (3| (C) Wind I (B)  Fossil fuels 7 (A)
The disease in which destruction the wall of alveoliis : | ug&{g&;g[ /lg;d/ JU{‘:},U‘I &U;l{;u 9
Bronchitis (Y (D) Emphysema L{,’(f{l (C)  Pneumonials (B) Asthma .2 (A)
Example of vegetative propagation by leaves is : : ‘*‘_'-JL“/JM I £ ;aj_uég_. 10
Bryophylium (/"V/ byiz (D) Garlic u") (C) Potato 7 (B) Mint =254 (A)
Number of bones in appendicular skeleton is : §-!U-’."JUZ»§U':§-3-\+§~ y'e #1111
146 (D) 136 (C) 116 (B) 126 (A)
The smailest bone in human body is : ; q_d@&%’c ./d/() JU' 12
Vertebera | 1115, 3 (D) Malieusu"é'/ (C) Incus Jq (B) Stapes u’.?ﬁ’ (A)

214-018-1-(Objective Type)-17500 ( 7467 )
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4B
10 2. Write short answors to any FIVE {5) questions :
i) Explan stomata
(M) Whal s alveolus?

Mazimum Marks

(i} Explain iharmareguiation
(W] Dafine osmasis.
(vl Explain renal paivis
(i1 Explan reflex am.
(wii] What i5 myopia?
{vidl) Explain owval wandow
10 3. Write short answers to any FIVE {5) questions :
{1} Differertiate between compasl and spongy bone
{ii] What 15 meant by antugonsm?
() WNiibe twe advantages of vegetative propagation
(1] Werte the functions of kum and micrapyle in seed {&
(v} Differentiate betwaen epigeal and hypoges
(wi} Define fraits also give an exampla.

(vii} Differentiste between mmu"ﬁ’ﬁ@
NEBOzygous Ganctyse. 0

{ PART -1 .%,!,l.&)

@:ﬂ

rﬁ-

h Chagland If -
&145 »J?

48 - AF
&ﬁfﬁﬁulﬂr[ﬂ&iﬁ-y—a

sl ()

e Vil )
e (W)
é_.ﬂf e (W)
éﬂwmufﬁ* "F [\fj
A o)

—$ -"'L’!L&-vc ‘iuﬂ
Teiflemii (vil)

2 G te e (i)
...p.t,-?.i...mrﬁjﬁa&ﬂf
-%ﬂﬂ.ﬁ-di L ﬂ"‘-‘*‘S; i

e AAle sn g (@)

(I 2y S5 rees (W)
L Fo Bt i ()
-EIALM I A W)
-FaloZE IS ()

A

S OAL U il 3 Ayl 05 gy V)

(vl What are bresds and cul

10 4. Write short answaers to j.bmp
{i} Define community, Type: Bitmap Image
Fii:n Wil is a food webk? EizE‘ 9‘92 F:B

(V) Whatl s recombinand DA
[} “What = bota endrophn and WHET
[vi] What are phamaceutcal drugs?

[wil] What s beron, what is its effect on CNS?

iviii} Forwhal pupose vaccines s used?

gy-10-LHR G1-18 (P- |

¥ -‘_sﬁ-’us._,‘.":w.n.,, {hi)
E 2Lz (5§ e 4
| -?‘iu-’.-"‘&a;.‘ (i
e i (H)
Hﬁm!@
1 % ='fL—a--DHMm i)
-J._ilv-'-m fevohii: (v)
EJ;‘;FE’L,? )
r_E}HI'La ES]'MEFJ _fi__;f {wu)
L3 d I LS5 v

‘\_}-?

{ PART-11 = .-!‘”F

Mote  Attempl amy TWO qusstions
2 B ia) Describe in detail comobe adjusimends in plants,
o

2 B (a) Wha!is skelston? Explen the componends
af human skelketon,

(o} Wrae a nole o nerve call of newon

4 {bh What & seed garmination? Explain 25 = Loa [0 022

condifizng for seed gemrninaton

B B B L

-&-!,;!.‘-,- = I:“!"“é::l C 2 F
B e S U B L ey ) L5
nifﬁ- il bl | E-.r AT
el it () 6

le-edald L0 e e o F2d E (L)

5 7. (a) Descroe n detnil the biolic components of ecosysicm m.:':._,!k,j'“‘}_flfm-gﬁ?:_j'fh_f’k %) .7

4 (] What are the objectives of genetic anginsenng™

214-018-{Essay Type}- TOOOD Y |
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L.,«’:?c/»c. u':u:}f:é’fé,)&.l/i;j'y/;{cé(@ﬁ -ugéc:.)D » C'BA O@‘K)@?LJ’Y/[ Sl
-fﬁ/r‘jw.,'ﬁwﬁufajﬂd/é_/z Jo | L usinlie L ,.Zi":ﬂ':,wf&);tf;/'b}'\a'«‘*&fw
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filiing two or more circles will result in zero mark in that question.

The complete map of human genome was published in ; !nél.’;.:"«"" K(i:.‘i' J'( cf.uul 1-1
2005 (D) 2002 (C) 2000 (B) 1902 (A)
Symbiosis in which both partners get benefit is example of : T g.JL‘»ugL ta?fa/tifz /.u:}»u.‘.' J)J/,Ur 2
Competition 4G+ (D) Predation /& (C)  Mutualism r%’x,‘ (B)  Parasitism (/I iz (A)
Example of rhizome stem is : ; : QJPJ Z.(;)JD 3
Garlic 7 (D) Onion Jk, (C) Ginger 0! Jg)@ Potato 4T (A)
E. coli bacterium was made in : <>®) ke ,}E.éufd f14
J 1970 (D) Ut 1977 (C) é®%5 (B) U 1980 (A)

& ; ~
Which structure plays an important rote for pushing the air e%i* ngs : é‘-—d/[’ﬁ)':év Orlle Usefies lrgff 5
Bronchiole dg,;:/ (D)  Diaphragm (f/'gfé\ (@ Bronchus / +4 (B)  Nasal cavity G:):’U/! (A)
N & . ’/ b -
Y PR |6

Theory of natural selection was presented

Malthas é.ujt’. (D) D wsts (C) Lamarck &Y (B) Aristotle i #1 (A)
> . ¢ R
The maintenance of temperature in internal human body is called : te t'Uf( Lo(/( G‘f:«ﬂ],‘wduﬁ IL()‘ U7
& - .,
Osmoregulationu’g:fzf I(B) Thermoregulation g’*’;fjr/ (A)
Guttation ﬁ( (D) - Respiration 09."1 ¥, (C)
Part of embryo makes root : : ‘af}:’?.:.,n?d AL
Plumule J);’yi: (D) Radicle ;_ﬁ.é/ (C)  Epicotyl Jlﬂ'f@’ (B) Cotyledon UJ;JGK (A)
Length of spinal cord is : 2 c‘-zjb’u( SJKJZ;- 9
X810 cm (D) KEF20em(C)  KE=30cm (B) A7 40 cm (A)

It is the unit of nervous system “ : "‘:..(3(!(/(()’/ Ui |10
Receptor %=, (D) Neuron s (C) Nerve o/ (B)  Ganglions ’/'ﬂu‘}"r (A)
Diazepam is : - 4‘:.."&6}9’8 11

Vaccines fg) (D)  Narcotics u’%t (C) Hallucinogens /)’JJ{? (B) Sedative .4~ (A)
Human skeleton contains number of bones : : .«;_:lﬁg(ug,:uuﬁok,,.\,,.(..&ljl 12
106 (D) 206 (C) 306 (B) 406 (A)

215-018-Il-(Objective Type)-12750 (7466) MR « lo= = 'g
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( PART-1 il )
10 2. Write short answers to any FIVE (5) questions : : J O 4 /" L Uiy (5) ét F (3/ -2
(i) Differentiate between glottis and epiglottis. é ubu/‘ut‘ﬂfq b:l‘,f"xf (i

(ii) How does the gaseous exchange occur in leaves and fe- t‘rér.bl/ Kukruﬁuxl. /u/»'ur (i)
young stems?

(iii) Define hydrophytes and give an example. -z“’:;dvmé - /“Ju"buy (i)
(iv) Write down the method of lithotripsy. xf.ﬂ)( UJ /:’J (iv)
(v) What is meant by succulent organs? Give an example. -t .":Jlﬁ'?q.; e /C Tushb (v)
(vi) Write down the function of occipital lobe. ié‘(/:f" K.,:U'f?(fr T (vi)
(vii) Differentiate between sympathetic system and -é UQJ/.JKV u@;ﬁ/ﬁﬂ’{;‘/ ..@""/ (vii)
parasympathetic system.
(viii) What is meant by brain stem? ‘L:lflfc.,(" 4 (viii)
10 3. Write short answers to any FIVE (5) questions : ZJ AR /" L =y (5) él. & J:( -3
(i) Differentiate between flexion and extension. °<:.Q/l/u-".’ u’“" wlu’a‘ (1)
(i)} What is meant by ostecporosis? ?@ T /Jc-_.f/ 193791 (ii)

(i} How binary fission take place in invertebrates . -%@ LJnd/u”d/Lu"u"//,u! (iii)

give an example?
(iv) Define endospores, give an example. @ “l ":(f"dt"mfi..ﬂ/"‘.d//’/r:iﬂ (iv)
(v) Write the name of two important parts of @og%ermlc seed. -&6 rtcﬁ ur”(" Ul G i gl (V)
(vi) Differentiate between breeds and ¢ ltﬁ@. ?g.g/gg’u:ubg( sliks (Vi)
O i ] » » T4 » --
nt assortment. -é J/‘J_.//r!u'yd»u lrULJP‘ (vii)
ion, also give an examp!e? & e & /l/c_;bdu’ (viii)
FIVE (5) questions : : &8 =iz & £ =i (5) ét el 4

(vii) Define the Mendel's law of ind

(vili) What is meant by natur
10 4. Write short answers to

(i) What is giobal warming? ggﬁﬁ;m}f (i
(i} Define aicoholic fermentation. _2’:_": - /:" J u’—""//’ﬁ (i)
(iii) Give uses of glycerol. e s (i)
(iv) Give two objectives of genetic engineering. -Z.: dgyw,)é £ }.ﬁ’ L (iv)
(v) How gene of interest is isolated? ?‘Lt'tgt[é wffdfﬁu;%: (v)
(vi) Explain drugs from animals. -Ef.-:( yu,Jg,gmu/J’ beussdle (Vi)
(vii) Differentiate between antibiotics and disinfectants. -5 ug&)@@.&.&pm s ufujz,‘ u}‘:'-' (vii)
(viii) What are narcotics? £ PARIEE e ?V_?gu—ffﬁr (viii?
Note : Attempt any TWO questions. ’ -zf.;yz&.-.,wmgdf N
5 5. (a) Describe the osmoregulatory role of kidney. -é L’)Lﬂd’.' d)-.!:{/ﬁfb’c_.)f ) .5
4 (b) Explain the structure of neuron. _Ef.-( fj el )
5 6. (a) What is bone? Describe its structure, -a;fuy.yvg!w?u;zfcfuz ) -6
4  (b) Describe the advantages and disadvantages of - &5 Wl bdlnler 46 5Ky Uy (&)

vegetative propagation of plants.
5 7. (a) What is acid rain? Describe its bad effects. _Z{Ubat}'c. ya "c.l/‘fjl.di;c' M .7
(b) Discuss role of biotechnology in the field of food -é &5 //l:fﬁ )bCrLuC&‘L..J'uul_ﬁ”’ ()
and agriculture. 215-018-11-(Essay Type)- 54000 -to-2-1§
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